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1. X, 9] AR T @
Fd 3 80 aY I o
a9 Ugd IFP! 1Y P
gt faemn U

a) 71 GTd
b) 72 1
¢) 74 T
d) 17 914

.62 TBS BT AF FI
g

a) 100
c) 620

b) 6
d) 600

.Te a4t so00 T H
Tder war 8, 3R 4000
T N S T @ B
fRTd 1 H1

a)15%  b)20%

c) 30% d) 35%

Multiple-choice questions

i;

2.

3

The total of the ages of
Ramu, Raju and Shyam
is 80 years. What was the
total of their ages three
years ago?

a) 71 years
b) 72 years
c) 74 years
d) 17 years

What will be the value of
62 tens?

a) 100
c) 620

b) 6
d) 600

A TV is purchased at Rs.
5000 and sold at Rs.

4000, find the Ilost
percent.
a) 15% b) 20%
c) 30% d) 35%
. Today 1s Varun's

birthday. One year from
today he will be twice as
old as he was 12 years
ago. How old is Varun
today?

a) 25 b) 20

c) 40 d) 57

1,

2

e

Ay, AG 8 WML
(TG 9951 80 954 | for
I%d W05 STAE (16

I T 7

a) 71 I8

b) 72 IR

c) 74 924

d) 17 3%

62 TP N F©
EIC Y,

a) 100 b) 6

¢) 620 d) 600
936 B 5000 Bram
B 4000 BrETy [

A FS?

a)15%  b)20%

©)30%  d)35%

T ©G (AF
GF 394 9d O T
12 I W (5
fReY =@ IFR
WG AT F9?

a) 25 b) 20

c) 40 d) 57
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5. gfg 100 fafewal 100

fa=i & 100 9§ AR 2,
@ 4 fafcar 4 ggi a1
foam fe=i & art
a) 40 f&
by 100 &7
c) 04 f&a
d)o1 faA

6. T deX Pl It o
I Aot R fowm
AR S | Th AeIg
aRA 39 @ U IuH
qaH BT 5/4 YT ITPL 3T
P faa 9w Reg 4
3T ?
a) 5/9
b) 6/10
c) 4/9
d) 4/5

7. 1 @ 39 Gl 9
S 21 A 9 uee,

g A @ dH T a1
fid @ Y 3@

fepafi 82
a) 17
b) 12
¢)25
d) 22

5. If 100 cats kill 100 mice

in 100 days, then 4 cats
would kill 4 mice in how

many days?
a) 40 days
b) 100 days
¢) 04 days
d) 01 days

6. A  waiter's  salary

consists of his salary
and tips. During one
week his tips were 5/4
of his salary. What
fraction of his income
came from tips?

a) 5/9
b) 6/10
c) 4/9
d) 4/5

7. Reena is twice as old as

Sunita. Three years ago,
she was three times as
old as Sunita. How old is
Reena now?

a)l7
b) 12
c) 25
d) 22

5.1 100 6 w1

At 100 6 %5a wy
ozt 46 [or 4ff
A o My cg
(TeTC?

a) 40 Ao

b) 100 A

c)04ﬁ—'~f

d) 01 fA=
. JFGH STIGIAA
(@oF ©1F ([@OF 47z
ot Rty 9foe| g%
gz ©rd G
(Ao 5/4 Ss# foeq |
Tl WITTF FO GALH
foorst catas Jrsifeen
a) 5/9

b) 6/10

c) 4/9

d) 4/5

(518 faw fox g
IS ©TF I SAT01A
G foq @ =l
[ERIEEES IR REACE
a) 17

b) 12

c) 25

d) 22
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8. Bgur fayfarmm &
Pofa 1 fgfa #i
BT g?

a) e darerg
b) fayfaemera &

Farfy
c)lﬂ?ﬁ%m
d) e =ht

9. Th fUr &1 somg o
3P JF BT g B FH
T 21 ot 99 ygd, 97
30+ GF § IR T 587
YT GA DT 3G (@wi ) B

a) 20
c) 12

b) 15
d) 18

10. 99 TBIE 6:73 &
U § & SR A&
LCM 3654 B S
HCF §:
a) 28

¢) 29

b) 87
d) 27

11. B fayfaemeg &
MR &1 BRdETA
7

a)3 a4
b) 5 T
c)4ay
d) 6 T

8.

Who appoint the Vice-
Chancellor of Tripura
University?
a) Ministry of

Education

b) Chancellor of the
University

¢) President of India

d) Education Minister

A father is now three
times as old as his son.
Five years back, he was
four times as old as his
son. The age of the son

(in years) is
a) 20 b) 15

¢) 12 d)18

10. Three numbers are in

the ratio of 6:7:3 and
their LCM is 3654,
Their HCF is;

b) 87
d) 27

a) 28
¢) 29

. What i1s the tenure of

Registrar  of Tripura

University?
a) 3 Years
b) 5 Years
c) 4 Years
d) 6 Years

d) st

. PG {1419 331 oI

(e fonee| =
IZd WS OIF I
(FEAd (BTF  BIRAGT
fgel rag IS
I (ART) I9?

b) 15
d) 18

a) 20
c) 12

10. =6 STe2ra

1.

A4S 6: 7: 3 4<%
OItMG LCM 3654,

WIthd HCF ¥9°?

a) 28 b) 87

¢) 29 d) 27
R CIRE R ELHGIRIE
(?I'I:@T"'ET@?J' (TR
a) 399

b) 5 IR

c) 4 94Rd

d) 6 I%4

5|Page



12.

14.

fawma gea @ g,
gfe @md ged 120
T B, 3R TH 35%
2

a) ¥, 130

b) ¥. 162

c)"'t?. 155

d)®. 185

. afe & e 5200

¥qY H WIS 99 ¢,
MR 30% BT AH
HHIT ¢, a At P
A HA -

a) ¥. 5000
b) ®. 4100
c) ¥. 3900

d) ¥. 4000

ofe ®1% 9% 100 TW
d oo Wrdt g d 20
I &1 Y Bl g,
fFufafea & 9 @
gfaerd 31 82

a) 30%
b) 25%
c) 10%
d) 5%

12

What will be selling
price, if cost pric.:e %s
Rs. 120 and gam 1S
35%?

a) Rs. 130
b) Rs. 162
¢) Rs. 155

d) Rs. 185

If a person sells a ‘sari’
for Rs. 5200, making a
profit of 30%, then the
cost price of the sari
is

a) Rs. 5000
b) Rs. 4100
¢) Rs. 3900
d) Rs. 4000

. If an article sold for Rs

100 then there is a gain
of Rs 20, which of the
following is the gain
percent?

a) 30%
b) 25%
c) 10%
d) 5%

12. M YT 120 B

13.

14.

33 e 35% =W

ok REIym s

RQ?
a) 130 BT
b) 162 BIT
c) 155

d) 185 BId1

" e e
a3 =G 5200
ey [f&E 09 30%
qe PlEN, 9]
FT?

a) 5000 BIdT

b) 4100 BT

¢) 3900 BT

d) 4000 BTsT

g6 &= 100
ooy R[RfE =3 20
BE G CEYRCIGE
(PTG A0S
D10

a) 30%

b) 25%

c) 10%

d) 5%



15.

16.

17.

18.

A,BBIAIR 3R B, C
DIEEAR R C, DB
farRId A DAY
et g2

a) QIAHHT
b) |

¢) =it
d) sg-

s yaffiex = &
ferg giem & S Sy
... U g g2

2) g8

b) fe=m

c) qdId

d) TR A DS ot
el

g ffaa A s
AR

a)m
b) GSH
¢) 71§

d) 963

e fhae d sAwm

2) YRUT &1 Jadd
b) STEfET

c) BB

d) I8

13,

17

18.

A is the mother of B; B
is the sister of C; C is
the father of D. So, how
A is related to D?

a) Grandmother
b) Mother

¢) Aunt

d) Sister

. A thermometer is to

temperature as a
compass is to

a) Needle
b) Direction
c) Pressure

d) None of the above

Which of the following
is different from others?

a) Blacksmith
b) Tailor
c¢) Barber

d) Carpenter

A book always has. ...
a) Content

b) Binding

c) Story

d) Pages

15.

16.

17.

18.

ATABAIN; BZAC
g9 (@; C T D a9
BICIRV G PN EIC) (€|
D Y 5716 Y7

a) TFI
b) NI
c)?ﬂﬁﬁﬂ
d) @

a6 AffeE 3
SITET T, FAA
& =2t

a) 36

b) AT

c) 51y

d) BHTIA (FIN62
Y

IDCEISIEIE
WA (ATF
WA



19,

20.

21.

24,

. She is going to quit her job

1 of the following 19, (6 fAg #fem
Pofafaa A 19. Which of the following (%
g | aﬁ;g is the odd one from the weHs (i ﬁ'ﬁf'ﬁﬁgq
ﬁqﬂn;.) given alternatives” 2) A
) T @) a) Diving b) MG BT
a
; b) Driving ¢) ATSA
) TS ]
¢) Swimming d) ATATITA]
¢) AT
e d) Sailing
d) SNl
fpef qwa @ gy 20. Digit 1 is occurring 136 20. G0 T300a AG 4T
Haid forga uT 1 3fd times on writing all of o] 44 fA4Ts oy
136 &R AT & o the page numbers of a 01 SenfG 136 7”;;
o q@f 9 3 book. What will be the oz | EEIRAGH >
Eg A number of pages in the He YT F9 27
CULE: book? _
a) 194 b) 195
a) 194 b) 195 a) 194 b) 195 s
¢) 200 )
c) 200 d) 295 c) 200 d) 295 )
ygerl H Tad @A 21 Find the wrong number 21, fawa Ffdte @&
3 ifer - in the series w94 g
1,2,6,15,31,56,91 1424 6;13:5 1,56, 5 1,2,6,15,31, 56,91
a) 31 b) 15 4) 3 b) 15 a) 31 b) 15
¢) 91 d) 56 ey 2 aya6 ¢) 91 d) 56
. Let's begin the task. Here the underlined word can be replaced by ?
a) Stop b) Start c¢) Ccase d) All of the above

_____they give her a pay rise.

a) of b) until ¢) unless d) providing
Nuclearenergyis  dangerous to be used widely.,
a) So b) such ¢) too d) that



25.

26.

27

29.

30,

E]) A b) An

Cannon had

a) Such, that

feT W g F =)
@ fra/fAfsrn wua
sgeH & R gaffe
IUYH faweg &1 9a
aﬂm- Have you

finished the work?

a) Has the work
been finished
by you?

b) Had the work
been finished
by you?

¢) Has the work
finished by
you?

d) Was the work
finished by
you?

unique qualities

b) Such, so

c¢) That, since

26. Choose the  most

appropriate option to
change the voice (active
/ passive) form of the
given sentence- Have
you finished the work?

a) Has the work
been finished
by

b) Had the work
been finished
by you?

¢) Has the work
finished by
you?

d) Was the work
finished by
you?

it was used widely in ancient times.

d) That, that

26. fAT6T ICIHA 6T

(Voice) HfFTE
(active/ passive) P

QR
w8

a) Has the work
been finished
by you?

b) Had the work
been finished
by you?

¢) Has the work
finished by
you?

d) Was the work
finished by
you?

Giveme __ apple. Which article will be suitable to fill this blank?

a) the b)a ¢) an d) None of these
_ Gangais___holy river. Which articles will be suitable to fill these blanks?
a) A, An b) An, The ¢) The, a d) The, The

He is good painter. Which article will be suitable to fill this blank?

a) A b) An

¢) the

¢) The

d) None of these

barking dog seldom bites. Which article will be suitable to fill this blank?

d) None of these

0

9'{ age




31,

32,

33

39 W6 BT IUA Y
forerept ard fag g
Usa] & g & WA
1 IR Yaraf & fore
fegr S are e
St AT & forg o
fodt gev & UM
ERIEIGIE

a) Honorarium

b) Mercenary

¢) Compensation

d) Commission

G UIeH] g &
fer gamg

a) Ctrl

b) Alt

¢) Home

d) Delete

fofefaa & @ s
3nfrc eae &1 Arfo
F & 3R el gl
3R WA Bl 82
a)ﬂ'ﬁ%ﬁ

b) Hel

c):fl'ltﬁﬁm

d) dg

3L

32.

33

Select the word which
means the same as the
proup of words given.
A payment given for

professional services
that  are  rendered
nominally without
charge.

a) Honorarium
b) Mercenary
¢) Compensation

d) Commission

To delete the selected
text press

a) Ctrl
b) Alt
¢) Home

d) Delete

Which of the following
to justification align the
text on both the sides-
left and right of
margin?

a) Balanced

b) Right

¢) Justify

d) Centre

-

32

33.

.I'

SR SCRHACITBIA
ISl DL *%4[6
[l BB
M| G|
AfFraresferd Gy
2@ 10 WLl
LR RIEI PRI

R IE e R ERCUCIEE T
"lm I "

a) SR G

) OIGICG (i
¢) 3BfoAde

d) B

fAifE® =Irés Jare
3 qra=ra FA1 =
a) Crl

b) Alt

¢) Home

d) Delete

fatea (=it
WG~ a9 8 T
To¥ AR o

g B2
a) Balanced

b) Right

c) Justify

d) Centre

10|Page



34. YR 31 Ugel ge-wdfig

35.

36.

37

T T gwE ok
&9

a)‘ﬂ'cﬂ

b) EHCTETE
) ITTE

d) g0

IR &9 yrd 1=
H1 IRURS IS
i I §?

a) NToTYTH
b) ToiRTd
c) 3EH

d) UaTd

e uged Sftar
gl Ugdl HRAM™
afge i A

2) HUH HeaH
b) F&ft Afcrs
o) G Riy

d) |1 gard

WSS WM @ & fow
DA P fod ol
&1 Iuar fear o

IHhdl &
a) F4 b) F1

c)F5 d) F7

34.

35.

36.

3

India's first high-speed
Bullet train runs
between Mumbai and

a) Goa
b) Ahmedabad

¢) Bengaluru

d) Pune

Ghoomar is a
traditional social folk
dance of which Indian
state?

a) Rajasthan
b) Gujarat
¢) Assam

d) Punjab

Who was the first
Indian woman to win an
Olympic medal?

a) Karmam Malleswari
b) Sakshi Malik

¢) P.V. Sindhu

d) Saina Nehwal

Which key on the key
board can be used to

view slide show:
a) F4 b) Fl

c) F5 d) F7

34,

3

36.

LW

TER 433

LG R (I (ACE
2N TR PG A6
(B BT & 2|

a) O3

b) ATAHIAMM
c) BT
d) SJA

Y] (Ghoomar)
wIkqlod (1 9qI0GTd
o TGF 6

o

a) G
b) WGEG
¢) QAN
d) MG

OfEA~>e (0o
GO eRed AAN
D EGIGE P RE

a) Karnam Malleswari
b) Sakshi Malik
¢) P.V. Sindhu

d) Saina Nehwal

TG N (RATS B-
@TET (PN (@O
(key) VITE DA
(TS A

a) F4

b) Fl

¢) F5 d) F7

11| Page



39.

40.

41.

B ®Ed # oF aq
e g giell 87
a)EﬁFG'

b) TR

¢) eforp

d) ey

ORI U §:
a) 319 UTg
b) TR U1g
¢) 31 3HUTg
d) a¥d HYUTg

qg 3ad &1 drid T

frgah SR B B
a) ATAFAIS

b) BAFGIEA

c) gEraraH

d) SREACgfer

38.

39.

40.

41.

creating a
you use
command

For
document,

at File Menu.

a) Open
b) Close
c) New
d) Save

Which is not included
in a Font Style?

a) Bold
b) Regular
¢) Italic

d) Superscript

Mercury is a :

a) solid metal

b) liquid metal

¢) solid non-metal

d) liquid non-metal

The red colour of
human blood 1s due to :

a) Myoglobin
b) Haemoglobin
¢) Haptoglobin

d) Immunoglobulin

38.

39,

40.

41.

T, SN IR
(TS
FAG FIZE FA|

a) Open

b) Close
c) New

d)Save

FHG T6 SOIEET
WIS N7

a) Bold
b) Regular
¢) ltalic

d) Superscript

NN GH0 :
a)ﬁ%ﬂﬂ]—\z
b) ©F 4Tg
¢) BN TYTG
BRCEEAVEII)

& FREE WE
QST 98 11 27

a) [ RIEE
b) RTTaRw

12| Page



4. WRAYE gR1 ARy
U YIS H1 I
EREECCIR Y
a) 74 g
b) 9t Sl
¢) 6d1 TR
d) et St

43. A9 P I frw
YR 9§ Ry
2
a) 3. AR
b) TORTd
c) AHH
d) G9d

44, Ggad AP HEHHI
(UNGA) A 21 S @I
frafefed & wu o
Ui faran &:

a) SFRTFE R
feag

b) SRIPE
fafes faaq

c) ﬁﬂguufaw
feag

d) R
wrey fead

42. The language
recognized by the
constitution is
mentioned in which
schedule?

a) 7th Schedule
b) 9th Schedule
c¢) 6th Schedule

d) 8th Schedule

43, Manas National Park is
located in which Indian
state?

a) Rajasthan
b) Gujarat
¢) Assam

d) Punjab

44. United Nations General
Assembly (UNGA) has
declared June 21 as:

a) International
Yoga Day
b) International

Doctors Day

c) World
Environment
Day

d) International
Health Day

42, SASfIYAT (FH
O GEILESIEINGH

PO Raw =AY
a) 7-4 VIGED
HER) GE
) 6-5 OIfer<p!
d) 8-X OIferpr

43. SIATSd (A TGy
W Grerg ST
WAfES?

a) A5 %1
b) BRI
¢) QT
d) A&

44. OIS STILEY
AR (UNGA) 210
T (& (@ M3
R (g

PEAR?

a) SIEGISS
51 st

b) MEGIOF
MRICAETE

c)ﬁ_ﬁﬂﬁm
st

d) WS TIfes
BT

13|Page



45,

46.

47.

48.

1 B HIE € -
a) o

b) ~IcH

¢) dle

d) SIg

sare § gew iU
T § & 91 ded Ul
ST 82

a) E’IST};NFT

b) ATSCISH
c)'épﬂ%lw

d) Rlicsime

THTY 38 H U o &1

T B

a) 3fee+
HAemRud+p

b) ?ﬂﬂm-rp

C) Gﬁ?ffw'-p

d) T A 318 ol
BN

adfic @ g 3PS
ol oMU U H
201 oof FRA §, H
HEAd 8?2

a) Tab

b) Cell

¢) Box

d) Range

45.

46.

47.

48.

The unit of work is -
a) Joule

b) Newlton

¢) Wall

d) Dyne

Which element is found
in the highest amount in
the Universe?

a) Hydrogen
b) Nitrogen
c¢) Helium

d) Oxygen

Select the page view in
MS Word.

a) Alt+Ctrl+P
b) Ctrl+P
c) Alttp

d) None of the
above

The basic unit of a
worksheet into which
you enter data in excel
is called a...?

a) Tab
b) Cell
¢) Box

d) Range

45.

46.

47.

48.

FGE g5 =(El-
a) G

b) fAGGA

c) Y1

d) GI2A

TR0 (& G
TG (Qf*
ST NS A2

a) RIRGITGH
b) ARG
SIEGEIR

d) SfETGA

UG5 STTE “§F1
T FICO IR

a) Alt+Ctrl+P
b) Ctrl+P
c) Alt+p

d) BATIA
(P62 N

of gFE (OO
IrENTF-a9
AANE 2P
Ea kil
a) Tab

b) Cell

¢) Box

d) Range

14|Page



49,

50.

5.

52

& Qe ok U

fe &1 gar i gry
T B &9

a) Re+F7
b) F7
¢) TeT+F7

d) 38 q Pig o
Tl

Teh deH1Se 3 Tl
B! 1 HT A 82

a) Home page
b) Browser page
¢) Search page
d) Bookmark

PR RIHR
fofafea A @ g
&7 & GA9Y veRH &
fere feu <Ima 82

a) e
b) Wi
c) Wd

d) fam

3R, &, dAeru fpad
Roufig® ——

a) FEFeR

b) BTgA

c) Jehyl a@-
d) fbem fAgeA

49,

50.

L

52,

We can detect spelling
and  grammar  error
by...?

a) Shift + F7
b) F7
¢) Alt+F7

d) None of the
above

A Web site's main page
is called its...?

a) Home page
b) Browser page
c¢) Search page
d) Bookmark

OSCAR awards are
given for best
performance in which
of the following field ?

a) Films
b) Literature
¢) Sports

d) Science

R. K. Laxman is
famous for ——

a) Painting
b) Cartoons
c¢) Screenplay Writing

d) Film Direction

49,

50.

51

52.

WIISTAT AT A48
IHA 0 NG
Fare fA

a) Shift+F7
b) F7
¢) Alt+ F7

d) Gofad
(P62 4

a6 STAITHBGA
HAYTH AP BT
B [

a) Home page
b) Browser page
c) Scarch page

d) Bookmark

faafafe (@
BEGRIGI

VG (G ERCTAVIESE|
HFHTI AT A T2

a)ﬁﬁﬂ
b) SIf2©y
c) (Y=l
d) fqear=

R.K. Laxman (P«
IEE(SAEEIC]

a) (12fGe

b) TGN

c) @Gy @
d) = Rt

15|Page



53, Frafafed & 9 o

54.

35

i 1942 H L&
EIRLE

a)aﬂ:lm
KIARES

b) HRABIS!
i

¢) Raemed
KA

d) 370 ¥ B3 of
el

W g 7 SO Uga
I0ey frd ®”IF W
feaure

a) GRATY
b) feeedt

c) DIADI
d) T

U &1 aRdide®
¥ 1 Y12

53;

54,

53,

Which of the following
movement began in
19427

a) Non-Cooperation

movement

b) Quit India
Movement

¢) Khilafat
movement

d) None of the
above

At which place did
Gautam Buddha give
his first sermon?

a) Samath
b) Delhi
¢) Kolkata
d) Gaya

What was the real name
of Chanakya?

a) Vishnu Gupta
b) Kautilya
¢) Chandra Gupta

d) None of the
above

54.

53. fAed (@9
SN 1942
ST ®F ZCARe?

a) SR
WA

b) ©ITS BITYI
A

55. BIMCRIS e 1Y

c) DT BY
d) B

16 | Pag

=



s6. PARAM

AhR

39.

PIUHISTERUR|
a) U

b) R S

o) Auely

d) Widhe

2168 + 3154 + 2369 =9

a) 7791

W 9t PN Fed
)

a) YH Wt B
STt gl

b) Uf-ﬂ?ﬁ REED
Qe

¢) TS Wiy 8
EARCRII

d) 3T Y &
EHREKI]

b) 7691

56.

58.

. Ultimate

PARAM is an example
of |

a) PC

b) Super Computer
¢) Laptop

d) PDA

¢) 7681

Jhoom cultivation
refersto.......

a) Tribal method
of shifling
cultivation

b) Hill area
cultivation

¢) Desert area
cultivation

d) Wetland area
cultivation

source  of
energy 1s ....7

a) Stars
b) Moon
¢) Sun

d)Plants

56.

59,

17| P a
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60.

61.

gfe 3 sfip 4 feA A 48
framm su™e THhA
A g, A 9 HFD 2
feml o fpaq feaum
PUNY THd P
b) 32
d) 72

a)216
¢) 108

fFaffed i ATl &
AT AT
REIDGE:

a) GUTY: X

b) iHr. g

¢) Tl - dren

d) 94 : g3

62) 7 & | &1 g

63.

TGE® el 6.7
a) CO2
b) CO
c) SO2

d) PIEAe!

IRAAR HRd & fbg
e 7 fRyd 87

a) SR

by feeit

¢) dIGE

d) PG

60.

61.

If 3 workers collect 48
Kg. Cotton in 4 days,
how many kg. Cotton
will 9 workers collect in
2 days?

a) 216
¢) 108

b) 32
d) 72

Which of the following
pairs of words are
differently related?

a) Kind: Cruel
b) Slow : Sluggish
¢) Stale: Fresh

d) Truth: Lie

62) Which of the following

63

is normally not a

pollutant...?
a) CO:

b) CO

¢) SO2

d) None

Charminar is located in
which city of India?

a) Agra
b) Delhi
¢) Bengaluru

d) Hydcrabad

60. M 3 G T 4

61.

62.

63.

At 48 (RS Qeem
M35% B O 9 G
s 2 M se
&for QUAl  HAERR
G [
a) 216
¢) 108

b) 32
d) 72

fRIEA (P =Y 97
R (51

HEmMieid
TNETF |

a) W] : fRgY
b) 9 : WS
c)m:m
d) STey :

a) 1A
b) A
DENEIGIE]
d) A
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65.

66.

4P & @ R A
frar Fet SR §, ol
& H3l IR P qoH
40 TTH 82

a) 40

b) 200

c) 400

d) 100

Tt wrgpd TRe 3R 0
G| &A1 8l
ST g |

a) QUREREAT
b) SHTIHEAT
¢) FHIEAT
d) fawmse

64,

65.

66.

Choose the appropriate
conjunction for the
given sentence:

he  was the best

candidate, he did not
win the elections,

a) And
b) But
¢) If

d) Though

How many candy bars
are there in a sack of 4

kg, if a candy bar
weight 40g?

a) 40

b) 200

c¢) 400

d) 100

All  natural numbers
and 0 are called the

~_numbers.

a) Whole number
b) Prime number
¢) Even number

d) Odd number

64,

65.

66.

yqe e Ao

ST YOG @0
o g@GH

woren ot fee, of

BRI G

FATS AT 1|

) S92

b) ﬁﬁ@

c)'ﬂﬁ?

d)ﬁ@

36 FNfGaE a9
G 40 AT 2, 4
(BTG SGUAF IV
A6 IO
QTHII?

a) 40

b) 200

¢) 400

d) 100

b2 o I O) SR R
8 ¥ (F I =W
R 1

a) ‘Tfﬂ%zm

b) RIGEREE)
¢) (GG SN
d) RTGTS Seam
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67.

68.

69,

70.

e &1 S B
AT ST & 2

a) UTRYTIRY
b) gfaRrs
¢) TSIy
d) BIETE!

oo wrer A few
YRA Is9 & U

%@maﬁaswﬁmu

a) RS

DRELN]

¢) 3UH

d) AR

b)ﬁﬁﬁﬂ
¢) AR
d) 2aEIE

HRd o

Fanfaar & 2
ay 1206

b) 645

cyORY

d)y 241

67.

68.

69.

Who is considered the
father of Mathematics?

a) Pythagorus
b) Euclid

¢) Lao Tzu
d) None

Manik Saha was sworn
in as the new Chief
Minister  of  which
Indian state?

a) Jharkhand
b) Tripura
¢) Assam

d) Manipur

Which city was the host
of the 108th Indian
Science Congress
(ISC)?

a) Patna

b) Delhi

¢) Nagpur

d) Hyderabad

How many tribes are
there in India?

a) 1206
b) 645
¢) 981
d) 241

67. NS GHAS FIFH

68.

69.

70.

IE1RA?

a) forTCsTaTS
b) 2CFG

c) 18 G

d) RIS ~w

TRF I SK[reg
(FN AT oA
TATNE RO *1ore
IB[RIT Y

a) ATOYY
b) fGfn
¢) QAT
d) Wf¥ey3

1089Y 2SI«
ST PSS (1SC)
I3 WTAGF 1R
(FMG?

a) BT

b) fuf&

¢) NI q
d) FAT_M

OIS FUG
Toronfe wme?
a) 1206

b) 645

¢) 981

d) 241
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1,

72.

73.

74.

Ag @ w9 &3
ST B &7

2) gl
b) ATHH
o) Raim
d) TRI

YT T D
ST g § Sl
T8I ¥ 9 5w 5y
ERGLE,
a)m

b) 3nfSam

¢) fagR

d) AeOUSY

YUY B IS
R ?

a) faxmaETaH
b) SERTA
¢) BTG
d) fosafa

fFrafafad A 4 afd o
T -

a) Present

b) Dowry

¢) Gift

d) Reward

L

=2

13

74.

Which is the largest
tribe in Tripura?

a) Tripuri

b) Chakma

¢) Reang

d) Garo

The Santhals are an
agricultural tribal
group who are mainly
concentrated in which
state?

a) Uttar Pradesh
b) Odisha

c¢) Bihar

d) Madhya Pradesh

What is the capital of
Andhra Pradesh?

a) Visakhapatnam
b) Amaravati

c) Hyderabad

d) Tirupati

Identify the odd one out
among the following -

a) Present
b) Dowry
¢) Gift

d) Reward

71.

72.

73.

74,

fqeyama 328w
Boranf® (i

a) @“’I?l
b) BIBAT
¢) faume
d) S1Cdt

SigwrEal a0

FREA TS

oS! AT LTS
(P TSy
(FUOD?

a) OO
b) SfG*1

c) IEEE|

d) VT

WFHATATAR ATGETT
f?

S AERIE IR RTRY

b) SIS

¢) G|

d) fowfS

IEBIBIRIC B ERE)
ﬁ[@i[@_ ic ANTE
PPA

a) Present

b) Dowry

c¢) Gift

d) Reward
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75. QU & adEe

76.

7

ST B 82

a) Idqd AR
3

b) T SEII X!

c)maﬂ

d) daH Rig
reipt

frg ad AR Sk
g WRa & Qi I

1 T2
a) 1962
b) 1968
¢) 1972
d) 1980

AQRT &1 @ d fabdT

82

a) 10492 @f
fraeR

b) 8452 @i
feariey

¢) 9492 It
faretteR

d) 11256 9
fradieR

75.

76.

i

Who is the present
Governor of Tripura?

a) Satyadev
Narayan Arya

b) Nallu Indrasena
Reddy

¢) Ramesh Bais

d) Kaptan Singh
Solanki

In which year Manipur
and Tripura became
full-fledged state of
India?

a) 1962
b) 1968
c) 1972
d) 1980

What is the area of
Tripura?

a) 10492 SqKM
b) 8452 SqKM
¢) 9492 SqKM
d) 11256 SqKM

15.

76.

Pk

R EIE ISR
AGTN (F?

a) A9TMI
DIGIERAIE

DRIEERIE
5|ICY

¢) AU RS

d) FIYA f3ig
SIGIES

(PN A NFNF @
o[ ored ‘1‘1‘@?
ElA R ICRICER S

a) 1962
b) 1968
c) 1972
d) 1980

G GIEAVIBICRSSOR
a) 10492

ERIEIGINOE]

b) 8452

ERICIGINOE

¢) 9492

ERICI GO

d) 11256

CRICIGINGE
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78.

79.

80.

81.

TTADC # d (aifg
Tl 3 = fpa
27

a) 28
¢) 32

b) 30
d) 33

B faum :ain e
el B Fa TEAT
z-
a) 50
¢) 60

b) 65
d) 70

HRA H i
fayfaemeaa gr
a) &% WAR
b) IoT WD

¢) fayfasmera
S TN

d) fen e
3R =fdd

NAAC fasd
daray™ H Ush Wi
TR 37

a) STSHTHUHIR

b) FTTIANMEIAR

¢) UTSHICTE

d) gt

78.

79.

80.

81.

Total number of
elected members of
Tripura Tribal Areas
Autonomous District
Council

a) 28
c) 32

b) 30
d) 33

Total number of members
in  Tripura Legislative
Assembly  is—

a) 50
c) 60

b) 65
d) 70

Most of the
Universities in India
are funded by......?

a) The Central
Government

b) The State
Governments

¢) The University
Grants
Commission

d) Private bodies
and Individuals

NAAC isan
autonomous institution
under the aegis of...?

a) ICSSR
b) CSIR
¢) AICTE
d) UGC

78.

79.

80.

81.

oA fSEP
PROMe (TTADC)-
49 F9 G« (W6
fadifew s

a) 28 b) 30
¢) 32 d) 33

R CIRERIRECIE!
(TG SRT ST YT
B -
a) 50
c) 60

b) 65
d) 70

R EACEICIRERIR]
IERIEIOIGE IRIEL
2T AT

a) (FE AP
DELCIRESIE

c)ﬁ'ﬁﬁ"?ﬂ?ﬁ]

TEYH
F

d) &S AF]
3 TS

TF 9H0
T *RPIATTFOE

a) SRS
b) STy
c) IS EIR T

d) RSGfS
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82.

85.

Mrs aa AT &
forg ugd wRdt
IqUg $) fobg A A
ST STl 82

a) 'Flﬁg

b) 379C - ot
c)@f

d) 3

. “ADD” Vsl & fu

el fodm wreg I -
a) Subtract

b) Addition

¢) Subtraction

d) High

. SoRIMS Wiew &

mwﬁ@fwmcﬁﬁ
Aeafbn &Y ... F
&G H ST ST 87
a)%ﬂﬁﬂaﬁi’

b) ferfeAwAe
c)ﬂ?ﬁf

d) TEeITATd

B & gmea fHaR
3a 9T @1 R
fFoa g

a) el
b) P
¢) Sefied
d) fppe

82.

83.

84.

The first Indian
Satellite for serving the
educational sector 1s
known as., ?

a) SATEDU
b) INSAT-B
c) EDUSAT
d) INSAT-C

Select  the  correct

antonyms for the words
-“*ADD™

a) Subtract
b) Addition
¢) Subtraction

d) High

Networking of libraries
through
media is known as...?

clectronmic

a) Inflibnet
b) Libinfnet
¢) Internet

d) HTML

. Somdev Kishore Dev

Burman of Tripura is
associated with -

a) Tennis
b) Football
c) Badminton

d) Cricket

5 [REsressta Ao

(RO GHT e
SR HAVRRIES
@1A(0?

a) SATEDU

h) INSAT-I8

¢) EDUSA

d) INSAT-C

wyfBg MW [l

w37 [RLE B
"Add"

) Subtract

b) Addition

¢) Subtraction

d) High

84, RETHHRS NG

ey “rRrdfEd
CERBIEINGEG
A

a) Inflibnet
b) Libinfhet
¢) Internet

d) HTML

. fasa oo

fAeRTE fey
0T SeoY g

a) (GRS

b) PO

¢) AMEGBA
d) {16
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86.

87.

88.

T AR gt
TS 1 Tt oY -

a) HeRIST Y=g

b) HERTST
PIALR

¢) HeRISIT YT

d) HeRTS &R

P Ryfeemem a
FOGRI URwe &
T P 82

a) Fanaafd

b) FaUfd

¢) XSER

d) Ul 9139 IR

22 TdeR 1991 @I
et SR Hd @t
o1 g @t A

a) HETET e
b) farar 4rd

¢) RRYWIIE
d) gdd Sl

86.

87.

88.

Queen Tripura
Sundari was the
wife of King -

a) Maharaja
Dhanya
Manikya

b) Maharaja
Kirtidhar

¢) Maharaja
Radha Kishore
Manikya

d) Mabharaja Bir
Bikram

Who is the Chairman of
Executive Council of
Tripura University?

a) Chancellor
b) Vice-Chancellor
c) Registrar

d) Pro Vice-
Chancellor

Who is the founder of
Swadeshi Jagran
Manch on 22
November 19917

a) Mahatma Gandhi
b) Vinobha Bhave
¢) Narasimha Rao

d) Dattopant
Thengadi

86.

87.

88.

AR G sl

1= arond J

ICIGEY

a) WRIATG )
<Ry

b) RIS
Fifoya

¢) NRTATGY AT
[EIQIERIBES!

d) ST=ErETSy 1
GG

CIEEaCS]
EAIVIES G
IV &7
a) worefy

b) BTG

¢) AfGPEE

d) 372 ST

2209 NCOFA 1991,
(S FON SI9EY
T2 AfSH FEA?

a) RIS
b) Rtarer O
¢) VTR A8

d) NTSIHNT
e.ERIN
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89.

90.

91.

92.

W iR for w1
b de R a8

a) @?ﬂg
b) e

c)H]
g8

“FEW” ¥edl & forg
a) Agree

b) Afiter

c) Best

d) Many

B & ygd geH

&1 &1 AT YT
a) Gftig o fRig
b) GIRY <&

¢) J9= Tehadi
d) A1fA® TR

Farg fayfaerea |
MTS &1 dd- &R (7d
iR & SER) &
87

a)?ﬁﬁl

b) Tdd 2

c)aﬁ_’;

d) &Iad 4

89.

90.

91.

92.

Bhuvneshwart Temple
situated on the banks ol
river

a) Khowai
b) Gomati
¢) Manu

d) Muhuri

Select the correct
antonyms for the words
o !tl:‘ I';:WII

a) Agree

b) After

¢) Best

d) Many

Who was the first Chiel
Minister of Tripura?

a) Sachindra Lal
Singh

b) Dasarath Deb

¢) Nripen
Chakraborty

d) Manik Sarkar

What is the Pay Level
(as per 7 CPC) of MTS
in a Central University?

a) Level |
b) Level 2
c¢) Level 3

d) Level 4

80, (I WAl Glcd

CRICEEIRIEE!
Afefe,

a) (AT

b) QIS
RICH

d) =l

SRCERIPEE
¥l =13 [
FPA - "Few"
a) Agrec
b) After
c) Best

d) Many

. fGem@ra o1 Jura g

& ferer=

a) R ERIGARE
b) WAL (W

¢) FCHAY TS|
D REERIEEAE|

2. GBf6 (FE

gt mTs-aa
(o ¥4 (7 Sifefsy
SR B9

a) (eT09e |

b) (FITwe 2

¢) (FTlwe 3

d) (cTtwe 4
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T A T s

03.

94.

95.

96.

g e fopem
forem g9

a) 6

b) 7

c) 8

d)2

oIS & TR DI A2
a) SR

b) WA faddTe

o) foa®

d) §fT 9% gesit

P Whddas 4U &
TRITTSH B A?

a) BSTAR

b) dR TraTH
c)TTE'T'I

d) TRt

PR fayfaermea &d
Hiig fayfaera
[SLa I

a) 1976

b) 1987

¢) 2007

d) 2009

93.

94,

95

96.

Total number of
districts in Tripura

a)6
b) 7
c)8
d)2

Who is the author or
Rajarshi?

a) Tagore

b) Swami
Vivekanand

c) Tilak

d) Bankim Chandra
Chatterjee

Who is the founder of
Rashtriya Swamsevak
Sangh?

a) Hedgewar

b) Veer Savarkar
c) Patel

d) Gokhale

When Tripura
University became a
Central University?

a) 1976
b) 1987
¢) 2007
d) 2009

93.

94, s

93,

96.

@@ (G|
YT FS?

a) 6
b) 7
c)8
d)2

A STYTRP
HUERd AfSdreT (F?

a) Hedgewar

b) Veer Savarkar
¢) Patel

d) Gokhale

IR GIAERIEIGIGE]
FE (AN
ERIELHCREIGH:
a) 1976

b) 1987

c) 2007

d) 2009

27| Page




97.

98.

99.

ART &1 Iee Us
P AT E?

a) Banyan
b) Agar
¢) Sal

d) Coconut

Tod ad ae Wed
T -

a) HIHAT

b) Hcllg

c¢) Udl

d) dd

AR @ g o
EERy

a) Sufer Rie
b) SRR

¢) B S

d) grEA

97.

08.

99.

Which is the state tree
of Tripura.

a) Banyan
b) Agar
c¢) Sal

d) Coconut

Choose the mis-spelt
word.

a) Adhere
b) Advice
¢) Address
d) Adiction

The highest peak of
Tripura is -

a) Bethling sib
b) Jarimura
¢) Feng pui

d) Sakhan

97, fAATE AGT I
(FWIB?

a) 0 MR

b) IV MR
c) *¥Ief MR

d) NPT MR

08. @eT A6 G
FFA|

a) Adhere
b) Advice
¢) Address
d) Adiction

99. A=A STTE6 =Yo7
5 -

a) @fes 519
b) ST
¢) (P8 7R

d) STT4=

28| Pag



100. TTAd A START
P ATIR Ix
WHR &
HHRG! B
Y A
fra um
a) 15,000 U7

PIGEEIS

b) 18,000 ¥4
ufqaE

¢) 22,000 3G
PIGEI

d) 25,000 394
ufaaTg

100.

As per the 7th
Pay Commission,
what was the
minimum pay of
central
government
employees?

a) Rs 15,000 per
month

b) Rs 18,000 per
month

c) Rs 22,000 per
month

d) Rs 25,000 per
month

100. YN (IS4

B Sl
(SR TP
FAoTAIHA
Oy (394
F© et
a) AfS WA
15,000 GIT

b) &S WA
18,000 BIT

¢) ffS T
22,000 BIFT

d) S Tt
25,000 BT
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Answer Keys for The Post of Multi-Tasking Staff

Question Number

Answer (Option)
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